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General Instructions :
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The question paper has 30 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

Questions from serial number 9 to 21 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 22 to 29 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 30 is map question of 3 marks from Geography. After
completion, attach the map inside your answer book.
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Give the ancient name of Tokyo.
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H «AVhat is meant by serialized novels ?
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\/Which type of soil is ideal for growing cotton ?
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C/» / Which countries did face the problem of social division ?
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By what name are the laws related to marriage, divorce, adoption known ?
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' L/- Why was States reorganization commission formed ?

6 ﬁm%w%mﬁmaﬁamﬁ@mmmﬁmi
@ /\{enﬁon any one limitation of Per Capita Income as an indicator of development.
7 TF g & Fhet el SR (S & ) ¥ amq oo w2

t /What do you understand by GDP of a country ?

-
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\= 3 \/Wl\y do people have different development goals ?
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Why did the developing countries organize the G-77 ? Give three reasons.
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Analyze how the new inventions and technology helped in setting up the factory concept in

the early 19th century.
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%_,, ‘/Wﬂ g evelopment of underground r'al_lway in London criticized ? Explain any three
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“In the l?.ig.hteenm century Euro
pe, the peasants and artisans j : :
agreed to work for the merchants.” Explain any three reasons  the countryside readily
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H L}dﬁlam any three major problems faced by people who migrated to Bombay durin
nineteenth century. 8
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Name any three women writers in India with their books.
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y\ / Explain any three contributions of novel to modern society.
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Describe the effects of reading maria.
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H - Muhammad Basheer written by the Malayalam writer Vaikkom
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Differentiz reen Exti
erentiate between Extinct and Endangered species with suitable examples
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sxplain any three steps f i
\A:,: = “€ps Ior agriculture reforms taken by the Government of India, after the
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G o .
\/;.am any three causes for water scarcity in most parts of India.
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£ Do you think that the steps

Stnhalas will be lon taken by Shril.ankan Government to establish the

g lasting? Give your view point. ) e
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#eich three ways is the political system in Belgium different and innovative from other
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countries ? Explain.
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cxplain with example the role of political leaders to determine the outcome of politics of wxlal
"divisions.
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“Money cannot buy all the goods and services that one needs to live well”. Suppart the

E -A/Sf;\kmenl with three suitable examples.
]
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_Mention the three different types of services included in service sector. Give one example of
C- vach type.
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.\_/éplain the inter-dependence of all the three economic sectors giving examples from
C‘_A transportation system.
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Describe the contribution of indentured labourers towards the cultural fusion in emerging
global world.
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Explain with examples the importance of advertisement in the marketing of the goods.
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— ‘ ; . s ‘a industrial cities of
H Cxplain any five social changes which took place in the life of the people in industrial ¢ <
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e’

eighteenth century England. 1l
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How did print revolution in sixteenth century Europe transform the lives of people ? Explain
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@ Explain how novels became a popular mediun of entertainment among the middle class
/dmhg late 19th century. s

24 TR WA F AT FH1 A0 Hifww | 5

W Explain the process of soil erosion.

25 Explain with examples how communities have conserved and protected forests and wildlife

5
cr_oju) in India. . .
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c/‘@iing Together Federations do not give equal power to its constituent units'. Explain the
statement with the help of examples in context to India.

27 TeHIta 3 e fafimraed @ afirssfe & fa= 43 anil am 2 w591 &1 9o wife
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Dgécribe three advantages and two disadvantages of the pohtxcal expression of caste
- differences.
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